> with(linalQg):

Warni ng, new definition for norm

| Warning, new definition for trace

[ > read "c:\\lang\\mapl ev4\\ bi n.w n\\dh2. txt";
> Al := DH2(1,1,1,0,270);
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> Z0:=vector([ O, 0, 1] ); Z1 := vector([A1[1,3], A1[2,3], Al[3,3]]
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Z0:=[0,0,1]
I Z1:=[-s;, ¢, 0]
(> PO1:= vector([ALl[ 1, 4], Al[2,4], A1[3,4]] ):
I PO1:=[0,0,d,]
> A2 := DH2(2,1,1,0,270);
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> T02 := nmultiply( Al, A2 );
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> Z2 := vector([TO2[1, 3], T02[2,3], T02[3,3]] );
. Z2:=[-c;s,-S,S,-C)]
> A3 := DH2(3,0,1,0,0);
gl 00 08
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> T03: =nul ti pl y( AL, A2, A3);

glcz S -GS 'Clszds' Sld28
851‘32 B ) '5152d3+C1dZH
e 0 0 0 1 u
> P03: = vector([TO3[1, 4], T03[2,4], T03[3,4]] );
PO3:=[-c;s,d;- s, d, -s;s,d,+¢;d,,-c,d, +d,]

T03 :=
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J11 : = crossprod(Z0, P03);
J11:=[s,5,0;- €0y -Cy S, 05- 5,0y, 0]
P13 := eval m( P03 - POl1);
P13:=[-c,S,d,- s, d,,-5;5,d,+ ¢, d, - C,d,]
J21 : = crossprod(Z1, P13);

J21:=[-c,c,d;-5s,C,d; -5, (-5,8,d,+¢;d,) - ¢ (-¢C;s,0;- 5,d,)]
sinplify(J21[3]);
2 2
S, $0;+C, 5,0
J21[ 3] := s[2]*d[3];
J21,:=s,d,
J31 :

eval m Z2 );
J31:=[-¢;S, -8, - G,
Jtop := augnent( J11, J21, J31 );
83132d3' ¢ d, -CCdg _ClSZB
Jiop:=§¢;S,d;- s5,d, -s/¢C,d, '5132H

§ 0 s, d, 'Cza
J12 : = eval n( Z0);
J12:=[0,0, 1]
J22 = evalm Z1 );
J22:=[-s, ¢, 0]
J32 := vector([ 0, 0, 0] );
J32:=[0,0, 0]
Jbot := augnent( J12, J22, J32 );
ot o o
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J := stack( Jtop, Jbot );
gslszds' C1dz 'C1C2d3 'Cl%ﬂ
e'clszds' Sld2 'Slczds _8152H
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J.:§ 0 S, d; ‘ng
"8 0 -s 0 u
& 1 U

g 0 C, 0 E

€ 1 0 0 u

thetal := 0; theta2 := 270*Pi/180; d[1]:=5; d[2]:=2; d[3]: =4,

c[ 1] : =cos(thetal);s[1l]:=sin(thetal);c[2]:=cos(theta2);s[2]:=sin(th
eta2);

read "c:\\lang\\ mapl ev4d\\bi n.w n\\subJ. txt " ;

Answer A : = subJ(J);
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> J .= stack( Jtop, Jbot ):

> thetal := 90*Pi/180; theta2 := 60*Pi/180; d[1]:=5; d[2]:=2;
d[ 3] : =4;
c[ 1] : =cos(thetal);s[1]:=sin(thetal);c[2]:=cos(theta2);s[2]:=sin(th
eta2);

> Answer B : = subJ(J);

83.464101616 0 0 u
g -2 2. -.866025404o§
e 0 3.464101616 -.5000000000u
AnswerB :=¢e u
8 0 -1. 0 H
8 0 0 0 H
e 1. 0 0 u

> J := stack( Jtop, Jbot ):

> thetal := 180*Pi/180; theta2 := 135*Pi/180; d[1]:=5; d[2]:=2;
d[ 3] : =4;
c[ 1] : =cos(thetal);s[1l]:=sin(thetal);c[2]:=cos(theta2);s[2]:=sin(th
eta2);

> Answer C : = subJ(J);

8 2. -2.828427124 .70710678108
52.828427124 0 0 u
& 0 2.828427124 70710678104
AnswerC:=¢ u
g 0 0 0 H
g 0 -1. 0 H
€ 1 0 0 u
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